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. Answer the Questions from ahy one Option.
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Full Marks : 60
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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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- OPTION - A
(Plant Physiology and Metabolism )
. Paper BOT-HG-30 16/ RC- 3016
Answer the following as directed :

o o B faren ¢ , |
1. Choose the correct answer of the followmg
~ (any seven) 1x7=7

Wﬁﬂmﬁasﬁmzﬁs@%@ (Rt
Aeby) .

() Which of the followmg forms of Water is
absorbed by plants ?
. .(a) Run away water
(b) Hygroscopic water
" (9 Capillary water
(d) All of the above
- SR NRY o %@m cetrret asﬁa AS?
@ IR QR
b)) e A o
© &R
(d) @W Wﬁf@ﬁ
What is root pressure ?

ot o

i)
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- (i) Transpiration is a necessary

(iv)

v

(vi)

(Flll in the blank)

(wa'? éﬁ qav/ 1)
What is meant by ‘aritiu'anspirant’ ?
qFopIePIES’ W R @ e

Who proposed Active K* transport
mechanism for openmg a.nd closing-of
stomata ? : -

(a) Steward
(b) Sayre
(c) Loyd -
(d) Fujino ’ ‘
SigqF SCADA S KEAGT FI0H @I Fferw
sHifi o SR oY Wtﬂwﬁ%? "
(a) B

(b) 513“@. .

(c) TG

(d) TR

Name one instrument to measure the
rate of transpiration in plants.
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Wmmqﬂawaﬁw@fﬁm- | (b)) CHRR

%PNI R (C) W

(Uu) D1eback disease is caused due to - (d) @oRT «bre 7=
deficiency of - ' L .
(@) zinc o ‘ S . (ix) Vernalization was dlscover¢d by
(). copper . . (@ Garner and Allard
(c) . boron ' | N () Lysenko '
~(d) iron - ' . ' () Kurosawa
T Gt R e qw? o | (@) M1ller
@ f o , B _ . IR SiRER R
(b) AR : S (a) wmaﬁw
o & S | (b) =RHF
d) | G FCIIH

o - (d) e

(viii) Mass flow theory of organic solute ‘ o
franslocation was proposed by . () What are thyllakoids ?
(@) Fen ' ‘ -
(a) Fenson e
(b) Spanner
(c) Munch | _ (i) As31m1tatory powers produced during
(d) None of the aboye : : photosynthesis are
tmmﬂﬁwmmw—wﬁw | ' (@) ATP and NADPH,
(@) e ' (b)) H,O and O,
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2. Write short note_s‘ on the following ; (any

¥ y - four) - 0 2x4=8
() ‘RuDP and RuMP

(d) CGH12v06 and PGAL
FACERPIRCERe eferare Tesm @Rl w@m«r

" (@) Osmosis

(b) Guttation

A |~ (9 Chloroplast
. (a) ATPWF&'» NADPH2 _ SR | £ " (d) Krantz anatomy
- (b) -HyO &% 0, 3 . ) . (e) Types of t;‘anspiratio_n .
(c) RuDP Si% RuMP | . () Abscissic acid o

(d) CsHiz06 iR PGAL (g Photosynthetlc p1gments
‘ (h) Day neutral plants

.. | (xii) E;spiratory quoﬁcnt (RQ) is reprefsented} | e TG 53 (ot ot 3 ’ (et b‘lﬁfﬂ‘)
@ o/ - L
(b) Ny/0, | ) FER
(¢) 0y/CO, (@ FEE R
@ c 02/02 (d) @@% as’at A
-W‘ﬂi’n@ (RQ) T# (0 ST =
@ om () GRS af=s.
B /o, (g) TERRETS IGF &5
© o,co, (h) T e e
@ coyo, - . , © 3(5em-3/CBCS|BOTHG/RC/G 7 Contd.
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- 3. Write short notes on the followmg (any " 4. Answer any three of the.following

three) 5x3= 15 o o questlons ) - 10x3=30
(@) Component i N ‘ ' ‘
(b)wChp nsofwaterpotentlal Wﬁmﬁﬁﬁm@mwo
‘ ohesion of water and tr tion . .
pull theory | ansplra © (a) What are different sources of nitrogen

for higher plants ? Describe the

¢) Phot i i
(c) Photorespiration biological nitrogen fixation. = 2+8=10

(d) Mechanism of i ‘ - '
Mechanism of enzyme action Topaeie Bfeva AR Ageer Ko TP
(e) Auxins .- . - | | . . e WH@WW«WQ‘WWI
() Anaerobic respiration - - - (b) Whatis. translocatlon of organic solute ?
(g) Vernalization . - | o ' Describe the mechanism of
() CAM o - - . g translocation of organic solute in plants
' . ‘ | - with the help of pressure flow model.
oS I By vl Bt (e RABD) N '
@ o o S A o T AR [ oA eRiE TR TS
TR TR | . Tfere toR T ARITR fFI! A =
(b) AR AxfE o AT 6T T :  (¢) . Describe different types of factors
(¢ SERARE - _ - affecting the photosynthegis. '
(@ EioR TRy - B AT Ao/ (oIl Rion apied
@ | | ' | PRR I
(ﬂ RIS W (d) What is photosynthe31s ? Give - a
- detailed account of cyclic and non-cyclic
(9')' IR B ' ' ' _ electron transport in photosynthesis.
(h) CAM - ' ' 2+4+4—10
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(e)

- {9) -

R oafofem foe Meoem of crgedt

()

ACEAFHCAT T2 AERLETIT v T

Describe the chemical pfocess of EMP
pathway. Write about net product of

EMP pathway. . 8+2=10
EMP I I07f< 2ot 391 a1 & EMP
N 0 ool Racm B

- Give a detailed account of.the Krebs

cycle. Mention its significance. .
(R SO R Reeel fiait | 23w e B
What is photoperiodism ? Discuss how

the plants are classified on the basis of
photoperiodism. . - 2+8=10

RIRT ese Feq ol e v
A 1 TR S < _
What is plant growth regul.ator ?

Discuss the physiological role of -

Gibberelljns in plants.

S 9 o 2 e R 1SR

SRR o
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OPTION-B

( Environmental Biotechnology)

Paper : BOT-HG-3026

Answer the following as directed : (any

seven) @ - . - Ix7=7
Rt S Feare epr e il ¢ (Rizwizar

(a). Which one of the following_ is not a

(b)

{c)

natural pollutant ?
) SO
(i) CO

(i) CO,

(iv) Pesticides

M so, . -

(i) CO |

(i) CO,

(iv) IO -

What is the full form of DDT ?
DDT 9 5~ aiiwt &2

In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?
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(d)

)

UNESCO 3 (@ 3© N g (Sauae

Minémata disease caused‘ due to
pollution. o (Fill in the blank) -

et G ehEes | = |
(R 3R 77 )

Write. two names of bacterial

' biofertilizers..

Mwﬁﬁmwwﬁa Q3RS A
et

Which one of the following is a
xenobiotic compound ?

() Polychlorinated biphenyls

(ii) Perokya(:etyl‘ nitrate

(iii) - Chlorofluorocarbon .

(iv) Ultraviolet ray

fReste: oGt ol sl =
() PREGT ARz
(i) CorRaoRe A

(i) FFEA

(i) wfowed Ry
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(g) Lignosulfonates are released from

~ industry. . (Fill in the blank)
RS S R - = ﬁef— © |
(wa? 312 %479 )

(h) What is ozone ?
oy e

'. (i) Which one e of the followmg is a unit of

radioactivity. ?

) ppm

(ii) curie

(iii) decibel

(iv) nanometer .

Fwe @G cwﬁsw—t G ?
i) foifotam

G TN
(i) CSbRE
 (iv) =TGR

() Where is Chilika lake situated ?

W Sz Bul T wRiFe 2
(k) Write the full form of WTO.
WTO 3 =5 =i fovat |
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ﬂ) Wthh one of the followmg is a Ramsar
' site ?

N (i) : Kaz1ranga National Park
(i) Majulee River Island
(iii) Deepor Beel
(iv) Brahmaputra River
feate et 2 T’ Z o cznﬁ—?
@) it T8 SR
(@) g AR
(i) W [
| (i) TE AR
2. Write short answers : (any-four) 2x4=8
L w%sﬁas%@ﬁm s (ﬁmmwﬁi?r)

(a) Advantages and disadvantagesv of
. aerobic ponds.

| Wﬁﬁ?%’?ﬁﬁﬁmwﬂﬁﬁﬁ?ﬁl

(b) What is radionuclides ? Give one
- example.

RfEatEET [e T bt Trat fora |
(c) What do you mean by bloconcentratlon ?

mﬁmqmﬁsqms
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b

(@)
, Wm *ﬂﬁ Rkl

| (9)

Write a note on biomining.

Write a very short note on Brundtland ,
Report.

PR aﬁw A WF‘ ww «f5 (o
ferdil

Pnnc1ples of Forest Conservatmn Act,
1972.

wnawrw@ (mﬂa) aspwsgﬁm :
Gilent Valley Movement.

S ToreRR S |

(h) Xylanases.

Write notes on any three of the followmg

5x3=15

ﬁmﬁﬁmﬁ‘ﬁﬁ?@w mﬁﬂt

(@) Global environmental problems

ﬁwﬂﬁ@ﬂﬂ@ﬂw

(b) Upflow anaerobic slud_ge blanket

. reactors

Lo ciles CREUAC R ek
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(c) Role of nitrogenous compounds in air
" pollution '

TRGEIE AWIL I A Bl -

' (d) Trickling filter '

(e) Corporate social responsibility

(f) - Salient feétu‘res’of Kyé'to Protocol, 1997
I 2BFAT (5959) T 24 [SIREAM e

(g9 Constitution of Central and. State
Pollution Control Boards

| R R A g P AR 9
g . |

h) Treétmcnt scheme of waste water of
tannery industry '

G TopR IR ~1NR ~Ree et

‘4, " Answer any three of the following ;

Riceeart fofbr erm Te forat ¢

(@) What is greenhouse effect P Describe
the possible environmenta] effects of
global warming. Write briefly how
greenhouse effect can be minimized.

2+5+3=10
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oo oz AR e Ry Saeeeds A

o o T '

What are pollutants ? Describe the fate’

of different pollutants in the

environment. . 2+8=10
o Rt ofRceTs RS e el B
dfq = : o

i streal P (1987).
ribe the Montreal Protocol (1 :
I]-Dlg‘s; does it differ from recommeng;)tlpns :
io- Sumit-UNCED (1992).
of Rio-Earth um o2
e o5z (s5b) 3l =1 | Ry’ = e
UNCED (5333) I R TS 219

@RS ARy S B -

What do you mean by sustainable .

. development ? Describe the impact of

i t on gross
sustainable development o .

i ivi ality of life. .
national p;oductmty and qu t}é :-)8:10
e R W 5 i ¢ v [
CoT TesAwe SR GRS WSS 8 %S
R 2eiRe TR A TR

3 (Sem-3/CBCS) BOT HG/RC/G - 17 Contd.



) Wri,t.e an essay -on National
Env1ronmenta1 Pohcy, 2006

(e) 'What are xenobiotic compounds ? How e o a@a 9@@1‘1% Qoox\a Fr‘a'@“ <fS aw%mn

*does xenobiotic compound affect the -
living o'rg_anismsv ? Give suggestive

measures to mitigate this problem ’ : o

" through bidremédiation . 2+3+5=10 " L : .

mﬁ@ﬂmﬂmﬁ?mﬁmﬁm 1o
TR GRS (AT ol FRA AR ?
I.Wﬁmﬁmmmﬁﬂwmﬁzﬁﬁa
ik I =11 -

() Write a descriptive note on Water
"Pollution (Preventlon and Control) Act,
1981.

W g (e S FE) SR, Savs
TR <ol Rge (it ot |

(-

(99 Describe briefly the role and

" participation of - women ~in
environmental issues in India.
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